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6HJDOD� SXML� NHSDGD�$OODK� 6:7� \DQJ� WHODK� PHPEHULNDQ� NHVHKDWDQ� VHUWD�

NHPXGDKDQ VHKLQJJD� SHQXOLV� GDSDW� PHQ\HOHVDLNDQ� SHQHOLWLDQ� GHQJDQ� MXGXO�

³6WUDWHJL� )XQGUDLVLQJ GDODP� 0HQLQJNDWNDQ� -XPODK� 0X]DNL� GL� %$=1$6� .RWD�

0DGLXQ´��7XMXDQ�GDUL�SHQ\XVXQDQ�SHQHOLWLDQ� LQL�DGDODK� VHEDJDL� VDODK� VDWX� V\DUDW�

XQWXN�PHPSHUROHK�JHODU�6DUMDQD�(NRQRPL��6�(��

'DODP� NHVHPSDWDQ� LQL�� SHQXOLV� PHQJXFDSNDQ� WHULPDNDVLK� \DQJ� WDN�

WHUKLQJJD� NHSDGD� NHOXDUJD� \DQJ� WHODK� PHQMDGL� VHPDQJDW� WHUEHVDU� EDJL� SHQXOLV��

7HULPDNDVLK� DWDV� GRD�� GXNXQJDQ� GDQ� VHJDOD� EHQWXN� SHQJRUEDQDQ�� 6HUWD� NHSDGD�

SLKDN�SLKDN� \DQJ� WHODK� PHPEDQWX� SHQXOLV KLQJJD� VHOHVDLQ\D� VNULSVL� LQL� \DLWX�

NHSDGD�

�� 'U��,U��1XQGDQJ�%XVDHUL��0�7���,38���$6($1�(QJ��VHODNX�5HNWRU�8QLYHUVLWDV�

6LOLZDQJL�

�� 'U�� $VHS� 6XU\DQWR�� 6�$J��� 0�$J�� VHODNX� 'HNDQ� )DNXOWDV� $JDPD� ,VODP�

8QLYHUVLWDV�6LOLZDQJL�

�� 'U�� +M�� /LQD� 0DUOLQD�� 6�$J��� 0�$J�� VHODNX� .HWXD� 3URJUDP� 6WXGL� (NRQRPL�

6\DULDK�)DNXOWDV�$JDPD�,VODP�8QLYHUVLWDV�6LOLZDQJL�\DQJ�WHODK�PHPEHULNDQ�

SHQJDUDKDQ� GDQ� ELPELQJDQ� GDODP� PHQ\HOHVDLNDQ� PDVDODK�PDVDODK� \DQJ�

GLKDGDSL�GDODP�SHQ\XVXQDQ�VNULSVL�LQL�

�� -RQL�� 6�(�,��� 0�(�6\�� VHODNX� 'RVHQ�:DOL�3HPELPELQJ�$NDGHPLN� \DQJ� WHODK�

PHPEHULNDQ� SHQJDUDKDQ� GDQ� ELPELQJDQ� VHUWD� PHPEHULNDQ� PRWLYDVL� VHODPD�

PDVD�SHUNXOLDKDQ�

�� 'U�� <XVHS� 5DILTL�� 6�$J��� 0�0�� VHODNX� 'RVHQ� 3HPELPELQJ� ,� \DQJ� WHODK�

PHOXDQJNDQ�ZDNWX��PHPEHULNDQ�SHQJDUDKDQ�GDQ�ELPELQJDQ�VHUWD�PHPEHULNDQ�

PRWLYDVL� GDODP� PHQ\HOHVDLNDQ� PDVDODK� \DQJ� GLKDGDSL� GDODP� SHQ\XVXQDQ�

VNULSVL�LQL�

�� 'U��+��$FHS�=RQL�6DHIXO�0XEDURN��6�$J���0�$J��VHODNX�'RVHQ�3HPELPELQJ�,,�

\DQJ� WHODK�PHOXDQJNDQ�ZDNWX��PHPEHULNDQ� SHQJDUDKDQ�GDQ�ELPELQJDQ� VHUWD�

PHPEHULNDQ� PRWLYDVL� GDODP� PHQ\HOHVDLNDQ� PDVDODK� \DQJ� GLKDGDSL� GDODP�

SHQ\XVXQDQ�VNULSVL�LQL�
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�� 6HOXUXK�'RVHQ�)DNXOWDV�$JDPD�,VODP�\DQJ�LNXW�PHPEHULNDQ�PRWLYDVL�GDODP�

SHQ\XVXQDQ�VNULSVL�LQL�

�� 6WDII�WDWD�XVDKD�)DNXOWDV�$JDPD�,VODP�8QLYHUVLWDV�6LOLZDQJL�\DQJ�PHPEDQWX�

GDODP�KDO�DGPLQLVWUDVL�

�� 6HOXUXK WHPDQ� SURJUDP� 6WXGL� (NRQRPL� 6\DULDK� )DNXOWDV� $JDPD� ,VODP�

8QLYHUVLWDV�6LOLZDQJL�DQJNDWDQ������

��� 6HUWD� SLKDN� ODLQ� \DQJ� WLGDN� ELVD� SHQXOLV� VHEXWNDQ� VDWX� SHUVDWX� \DQJ� WHODK�

PHPEHULNDQ� EDQWXDQ�� EDLN� ODQJVXQJ� PDXSXQ� WLGDN� ODQJVXQJ� NHSDGD� SHQXOLV�

GDODP�SHQ\XVXQDQ VNULSVL�LQL�

'DODP� SHQXOLVDQ� VNULSVL� LQL� SHQXOLV� PHQ\DGDUL� DGD� NHOHELKDQ� GDQ� DGD�

NHNXUDQJDQ��MLND�WHUGDSDW�NHEHQDUDQ�GDODP�VNULSVL�LQL�PDND�NHEHQDUDQ�LWX�EHUDVDO�

GDUL� $OODK� 6:7�� 1DPXQ� MLND� GDODP� VNULSVL� LQL� WHUGDSDW� NHVDODKDQ� PDND� LWX�

GDWDQJQ\D GDUL�SHQXOLV�VHQGLUL��+DO�LQL�WLGDN�ODLQ�NDUHQD�NHPDPSXDQ��FDUD�EHUILNLU��

GDQ� SHQJHWDKXDQ� \DQJ� SHQXOLV� PLOLNL��$WDV� VHJDOD� NHNXUDQJDQ� GDODP� SHQXOLVDQ�

VNULSVL�LQL�SHQXOLV�PHQJKDUDSNDQ�NULWLNDQ�GDQ�VDUDQ�GDUL�VHPXD�SLKDN�\DQJ�EHUVLIDW�

PHPEDQJXQ�VHKLQJJD�GLKDUDSNDQ�GDSDW�PHPEDZD�SHUNHPEDQJDQ�GLNHPXGLDQ�KDUL��

6HPRJD�DWDV�VHJDOD�NHEDLNDQ�GDQ�EDQWXDQQ\D�PHQGDSDWNDQ�EDODVDQ�\DQJ�OHELK�GDQ�

EHUOLSDW�JDQGD�GDUL�$OODK�6:7��$NKLU�NDWD�SHQXOLV�EHUKDUDS�VHPRJD�VNULSVL�LQL�GDSDW�

EHUPDQIDDW�EDJL�EDQ\DN�SLKDN��$DPLLQ�
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